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Geschwingg.
Tuelle Uhrzejt
Aarvin.
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5 Mogliche
a) 3,21un
b) 0,041 u
c) 11,0151

6 Es gibt in:
a) 3,78; 3
b)

7 a) 11,50
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11,53
11,54
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= 32cm; 9,8cm =10cm;
A2 1cm; 99,5¢cm = 100cm;
100,3cm = 100cm; 0,99cm =1cm;
3,59cm = 4cm

2 Die Rundungsstelle ist markiert.

a)23=2 b) 132 =13
5,65 = 6 8,47 = 8,5

0,9 =1 6,651~ 6,7

12,52 =~ 13 17105 = 17,1
151115 =~ 151 9938 ~99

c) 4,372 = 4,37 d) 59473 = 5947
8,0867 = 8,09 0,28859 = 0,289
01095 = 0,11 10,02702 = 10,027
21,225 = 21,23 15,5555 = 15,556
0,0099 = 0,01 6,54545 = 6,545
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a) 3,42mis
beim Weits
Vergleichse
die Siegeril
b) Da hier
die gerund
Auch eine
sinnvoll.
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a) 0,007
b) 1,5

C) 2



